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ń
ı
⇒

m
ak

ro
sk

op
ic

ké
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tń
ı

ro
vn

ic
e

p
ro

ty
to

p
ro

m
ěn
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ěj

ak
é

vh
od

n
é
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ěl

.
fc

e.

P
ro

ka
žd
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ře

d
p
ok

la
d̊
u
,
n
ap

ř.
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eń

ı
n
ev

yl
u
ču
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tá
vá
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áń
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oč

et
čá
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áź

ı
k

p
ro

d
u
kc

i
n
eb

o
zt

rá
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oć
ı

sr
áž
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vé

fr
ek

ve
n
ce

ν i
n

e

•e
fe

kt
re

ko
m

bi
n
ac

e
-

ry
ch

lo
st

ń
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vý

čl
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é
zá
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á

ča
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řa

d
n
éh
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śı

lu
,
je

p
os

le
d
ń
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kć

ım
⇒

z.
z.

hy
b
n
os

ti

Č
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ćı
k

tv
or

b
ě
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ěn

y
st

ře
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áž
ka

m
i.

D
ů
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é
hy

b
n
os

ti
p
ři
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áž
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čl

en̊
u

źı
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Č
le

n
ρ

m
α
〈V

α
V

α
〉p

ře
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lń

ı
in

te
rp

re
ta

ce

•P
rv

ń
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čl

en
L
S

-
p
rá
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vá
st

ra
n
a

-
zm

ěn
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ře
b
u
je

m
e

3
m

ak
ro

sk
op

ic
ké
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čá
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